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Multiplication (Vertical) Name:
Solve each problem. Answers
1) 43 2 97 3 85 9 71
x 4 x 8 x 7 x 8 -
2.
3.
4.
5 28 ) 96 ) 65 8 80
X 6 x 8 X 2 x b >
6.
7.
8.
9 23 100 60 L) 92 12) 43 .
x 2 x 7 x 8 x 9 '
10.
11.
12.
13 75 14 60 )| 1) 70
x 7 x 7 x 3 x 8 s
14.
15.
16.
17) g7 18) 3g 19 33 200 g5
x 9 x 4 x 7 x 5 1
18.
19.
20.
1-10 [95|190|85(80(75|70| 65|60 |55|50
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Multiplication (Vertical) Name: Answer Key
Solve each problem. Answers
1) 2) 3) 4)
43 97 85 71 . 172
x 4 x 8 x 7 x 8
172 776 595 568 2 776
3, 595
4. 568
5) 6 7 8
28 ) 96 ) 65 ) 80 . 168
X 06 X 8 x 2 X b
168 768 130 400 6. 768
7 130
8. 400
9 23 100 60 L) 92 12) 43
0. 46
x 2 x 7 x 8 x 9
46 420 736 387 10, 420
11. 736
12. 387
13 14 15 16
) 75 ) 60 ) 91 ) 70 " 505
X 7 X 7 x 3 X 8
525 420 273 560 14, 420
16. 560
17 18 19 20
) 87 ) 38 ) 33 ) 65 . 283
x 9 X 4 x 7 x b
783 152 231 325 18, 152
19, 231
20, 325
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#b—] Multiplication (Vertical) Name:

Solve each problem. Answers
776 420 172 595
46 400 130 568 1.
168 768 736 387
2.
) 43 2 97 3 85 9 71
x 4 X 8 x 7 X 8 3.
4,
5.
6.
7.
8.
5 28 6) 96 ) 65 8 80
X 6 x 8 X 2 x 5 9
10.
11.
12.
9 23 100 60 1) 92 12) 43
x 2 x 7 x 8 x 9
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